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Ch-7 You start from 45 on this ,"Y\ A/
number line, and jump back 3 ' 2
Can you e B
steps, 2 steps, 3 steps, 2 steps [
see the and so on. In how many jumps
pattern? | will you reach 0?
Answers Options
Option A Option B Option C Option D
5 18 25 235




Ch-7 3 STRAIGHT roads can form
a maximum of 3 crossings g
<— Lrossing
5_27 Canyou | as shown in this figure: C
_ see the | What is the maximum
Mathematics pattern? number of crossings that
can be formed by 4 @ g})
STRAIGHT roads, given that
8302 only two roads meet at a
crossing?
Answers Options
Option A Option B Option C Option D
4 5 6 8
Ch-7 Bulbul thinks of a 3-digit number, decreases
it by 50 and then increases it by 35. The
5 29 Can you See resulting number will be A
- the pattern?
Mathematic
S Answers Options
11559 Option A Option B Option C Option D
15 less than 85 more than 25 more than Bulbul's 25 less than Bulbul's
Bulbul's Bulbul's original original number. original number.
original number.
number.




Aman and Aliya are playing a ' N
game in which they have to form ’Fl ‘ M X, 1
Ch-7 words by placing letters on a o o
board that has white and shaded
Can You squares. Read how points are
see the scored in this game to answer the |
pattern? | question. | ‘ ‘ l
5 26 Aliya has to place the word on

- this line:How should she place it D
Mathema to score the maximum possible

tics points?

Answers Options

1783 Option A Option B Option C Option D
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Ch-7 Which number should come in place of
a?
211 Can You See

Mathematics The Pattern? |1 4 2/ s [7‘ :1%

[a—

5147 Answer Options
Option A Option B Option C Option D
1 2 3 7

seethe ghen patter; |y 3§ ) 1
The number that should S E

3_18 Can You See come in the empty box is
Mathematics | the Pattern?

Ch-7

3226 Answer Options

Option A Option B Option C Option D
2000 2500 2520 2200




See the paper wheel shown
Ch-7 in the given image. Which of o
3_18 Can You See The  the pieces below is a part o©
Mathematics Pattern? cut out from this paper '
D
3264 wheel? §
Answer
Options
Option A Option B Option C Option D
(¢} 00
% o°° ) N C v
~ B. : D.
A.
ch-7 If we start from 1000 and count
in thirties, which of the
Can You See | ¢ i ; i A
ollowing numbers will be in the
14 The Pattern? resulting series?
MATHS
Answer Options
7493
Option A Option B Option C Option D
1300 1200 1100 1050
Ch-7
Can you see the | |f October 1 of some year is a
Pattern? Sunday, tr:jer? Augkl:st 1 of that
2 10 year would have been a C
Mathematics Answer Options
Option A Option B Option C Option D
5760 Sunday. Monday. Tuesday. Wednesday.




Ch-7 Ajita makes a pattern as shown below =l &
by drawing dots in rows of boxes. Study S FE e
Can you the pattern and answer the question. Bl N Row3 A
see the
5 28
pattern?
. What would the next row look like if this
Mathematics pattern is continued?
9947 .
Answers Options
Option A Option B Option C Option D
meaam| L
R £ (1 63 (& B3
Ch-7 _,\'—-‘ I --.‘1.
S 12y \
Canyou | What time is this clock ,"'\" 8\
see the . -9 13-
5 28 showing? '. .~ A
- pattern? \ /8 4/
Mathematics N, 4
ln»‘ I _,\'
Answers Options
9921
Option A Option B Option C Option D
7:55 8:05 8:55 11:40




12 Ch-7 How many triangles of any size
are there in the figure?
3_19 Canyou D
_ see the
Mathematics
pattern?
2637
Answers Options
Option A Option B Option C Option D
4 5 8 10
>
e o |
° o |! .
13 Three regular dice with 1 to 6 dots | [(,, I3 o.’
5_27 Ch-7 on their faces are arranged as |[®®e Y’
) shown:
Mathematics Can you
see the | What is the sum of the number of B
pattern? d.ots .on a.II the HIDDEN faces of the
8299 dice in this arrangement?
Answers Options
Option A Option B Option C Option D
24 39 44 63
See the given pattern of
Ch-7 shapes : -
3_18 Can You See The “ VWAL ‘A ;
Mathematics [Pattern? What are the next three SRR AR
14 3256 figures in the pattern?
Answer




Options
Option A Option B Option C Option D
ACA OAA O/ A
/N A B. C. D.
A.

15
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Ch-7 Which of the following pairs of
shapes when joined together (by B
Can you placing them edge to edge) can
see the | form a SQUARE? (The shapes can
pattern? be turned if required)
Answers Options
Option A Option B Option C Option D

\




